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h—EERL - B(5l] Sequences £

— . JEHRA B EHNAI AR I EAIE  Guess the values of the unknowns in the following sequences.

(a) 1,4,7,10,x,y, ...

(b) -2,-4,-6,-8,x,, ...

(€) x,2,4,8,16,y, ... T2

(d) -6561,x,-729,-243,y, ... o ERXEREMBENENRT

(e) -1,3,-9,27,x, y, ...
(f) 25,36,x,64,81,y, ...

(g) 1,2,4,7,11,16,x, y, ...

= TAISET o, B—EEIRVIEIE KEZEYIAYEE 12 THe In each of the following, a, is the

general term of a sequence, find the 12th term of the sequence.

_n(n+1)
(a) an - 2

 (n+3)(28—n)
(®) a,= B

n*(n+1)°

(©) a,=

(d) 0= n +3n"—16

n 16
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= . B THI&EE - Complete the following questions.

1. B4 %(7 —3n) F—BFAYEIE - It is given that %(7 —3n) is the general term of a sequence.

(a) SKEZEHIWE 13 H -
Find the 13th term of the sequence.

(b) 20 EAZEIIHVH P —IH ? SRR E R

Is 20 a term of the sequence? Explain your answer.

2. 8% a, B—HYHYEE - & a,.,=2a,,—a, ° Let a, bethe general term of a sequence. It is
given that a,,=2a,, —a, .
@ & a=3 M a=5°"3K a -~
If =3 and @, =5, find a .
(b) # a,=31 & a,=36 3K a -
If a,=31 and q,=36,find q .
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